07 February 2022 02:56

© locals VO Rhs Ma
(7’ j> R:L —> (5
Stk
l. 4 ('L”’/) R,,
1 Xz 4, \l.
2 d ("7L)) \/ fEu}Rv

B ol 2 vur | it
st = dfv'\-\(w)‘ ('QRJ,(*J;-L J;n)/

= (b Do 2]y 0t)
ol = | Caod) | o) | (ol oﬁ«))
T (e ) Bs)
Y B

(A vor X w_ﬁ)

1 v
Vo= nhs it Lol



ret  (Usdy)

(o

4o = vanlimt

b - o (o) | € ) | G S )

hot -z vz o —> &

w = yulwm M) \ s*mf g;'
™ .

[03t E t"/‘,} t‘M} &J%;

tof —> stet Ll = sl stat tad

gjr M{',‘ s’\ M{' ) J‘Uzi- oy
A U
S‘fm",' \/M\'ﬂ/"b' ) ot Q/»f)?.)'

von,= &3py s ven e ; gl enp s

M\_M op — (w x wan Lal
- %7“ oh, v, (oJL ol
R“} V\‘:’L >£f«1 X Voh (l/lt
Cuiy (var, wps)



exp_crtl example
uary 2022 B

(0 optad (Wt [> (8 (Ly DY (-#)
(5

(1) o Aad (-2) t**l”""di
nekwm Ca) > G f oulr
Lt
(-2 H%
) p/)q;,wsa (((d (Ij t))y) = {J’-'*“"" "'"']>
SRS 1
I"IJ/n't el

([.}l) 0*# Wr ( y x { ndum -, })

(\-'1-1) m{)wr\ (-v2) 4 { }

A van (¢ tad

( gz -v2, g &> )
R T X {'x'é—)j }

ndwna A,

J Vs
(m{ ) | {"%‘l”)‘)}

I !






= (, > x86 ’{VMS"' \

~ = ['Mo ’;1) x = Cti1o x),
MoV»k?\o aA'A'?/$lo7t
abba, ﬂ;’;l/ 7— o
7/ *- (M))
J
sk 2 o! = C‘)ﬂyv sooh
mw} @',% mev 3, /. oo, DC



RET Aod

—> o /b M&LC’W_ % %C“X/y%
o okl B > obl
4 Vw\ —L

—

AV Al

L A -',(5/‘/ )m(l.[)



Cy o v ) yro
fraclontg) R
&oo (7 M)

a/s*u?/ ’8(% ’H’KW)



Patch inst

{ by, 8 /nby,) ey,
Moy - 8 M) e
obby, ) nox 1P



o aprp| b p] ]



